Syrw] sin(@) =

i peteneton U1 K sucteingpts 7!

fEe
e
N

cos(8) =

1{
w L

tan(f) =

.
[
t

2 BE LR

mc-dn.uudn.-uu Find the sine, the cosine, and the tangent of theta.
45 P -Sr‘.z %—s'. Give a fraction.
a3 . ——
TP n. "Ql COS(G) WS »

tan (6)~ 5 ﬂ




mm What Did One Mind Reader Say to the Other Mind Reader?
§

. W.«M Write the trigonometric ratio. Then write the letter of the correct choice in the box containing
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Geometry 2- Similarity & Right Triangle Trigonometry Homework
Name: Date:

Trigonometry Ratios - Classwork

Draw AABC where ZABC = 90°, AB = B-BC = 15, and AC = 17.

1. Whatis tan C}_?_, - i.f..
2. What is sin A2 '5 )6 N S'NLA)- j7
‘ A

Draw AABC where ZACB = 90°, AC = 5, and CB = 12. -

3. What is the length of AB?
4. What is cos A? COS('\)I":}"” )3 O ’2_

1>
5. What is tan Bﬁ’ah(B\-.é
/2 A B 4 .

Draw ACAT wh ATC = 90°, CA =53, and CT = 28. 2% __{_
Whatis the length of AT &= -1 -Siniy=

7. Whatis sin C2 %\'\’\(c;}:jg f 45 A
8. Whatistan A2
tan(A) = 25 A
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9. What s the length of AB? h\ﬁ? \ 20 H R qoo

10.What is ta/\? i
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Draw AHAT where ZH = 90° and fanT = % = H

12.What is the length of ATz 2 7 37 |
13.What issinAy we é X Jd-
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14.What is cos(T?) - :
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Geometry 2- Similarity & Right Triangle Trigonometry Homework
——

In the following problems, DRAW stick-man standing where the angle is and MARK
each given side as A (adjacent), O (opposite), or H (hypotenuse). Then TELL which
TRIG RATIO you have. You wil NOT be solving the problem for x (we haven't learned how YET).

15. Which trig ratio is represented? .
A, SIN 69 X
B. COS

C. TAN

16. Which trig ratio is represented?

A.'SIN
B. COS 69

C. TAN L

17.Which trig ratio is represented?

A. SIN 18°
B_COS 52
C. TAN

18. Which trig ratio is represented?

A. UIN
B. COS
C. TAN
Find each ratio and be sure to reduce, if possible. \t\l(}.(‘w\ 0?
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19. TanZ Y _  Sjm g 20. Sin X _\’]
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Circle P is dilated to for circle P* Which statement
1S ALWAYS true?

A.The radius of the circle P is equal o the radius of
circle P’

B. The length of any chord in circle P is greater than
the length of any chord in circle P’

C. Diameter of circle P is greater than the diameter
of circle P*

D. The ratio of the diameter to the circumference is
the same for both circles.

Trig Ratios

2. con A

3 vtnd _& .
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4, 11 C = 20", then cos C is equal 10!

35

8. cos 70 C. tan 70
1 2
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Ex:3 Find the side. Roundte the necrest tenth. B 4 Mﬂ-miﬁ.l—dhm—@
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